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Paper / Subject Code: 63502 / Media Economics

(2 hours) [Total Marks: 60]

NB: (1) Question No. 1 is compulsory. It carries |5 marks.
(2) Attempt any five from the remaining questions. Each question carries 9 marks.

(3) The English version of the paper is the correct version of the question paper.
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(1) qaamwyﬁaﬁmaa%wm.
(2) 3T GRATIT FIVIE Urg e HIsal. Yodeh Fe&Ter & 07 e

(3)  ueeAYTAH smsﬁ gd I 3Te.

1. The director is more a manager in the film industry in India. Explain the statement from an

economic perspective. R iaaqaqsé d fe7e® hdo Udh caavdids 34l AT
faemarar srdemErear efSchlATd AENaT €.

OR féar
Describe the market for religious content in India. HARATd e1fae favarear el
- ATINET €.

©2. What is the s4cobpe and futuféuof‘a budd‘ihg music composer in the Indian media

__;findustry?ETHW FANTHRIETS! ARATAS ATEIH 3NN arg 307 HiasT 8 3ie?

*©3. What has been the impact of women being the largest number of consumers of daily soaps in

India? A QTR Sgeler AR AT areT RO T AT 2

.4, What factors might influence distribution of music online? What factors will limit the

. distribution? HafraT=AT 3reieTengsl [AeRUMER el geahiar IRUTMH gial? FHaedr
. HeHiH A aeRoeR FHTer gsdrd?
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5. News anchors are really news entertainers. Explain how and why this has happened? 51

ﬁmammmﬁmmﬁ.mamammﬁmﬁmm.

6. The quality of news demanded by society determines the quality of the news organizations in
that society. Explain the statement from an economic perspective. ST Goll<dT STTFIT

THATSTT AN 3 T YhRAT ST aedr oar AT 39, 3rdFRomear
TSCIhIATTA AT T ATeNaT €T,

7. Entertainment in India is still too expensive. Explain the statement from an economic
perspective. {IRATT A JHTSTEl GU Wi 3MTE. IRFROMAT TARATA a7
TR HIEET €.

8. Discuss the economics of Hindi theatre. fg&Y I?Tﬁﬂjiﬁj IAFRT FY 3 o G,

9. What are the skill sets required by a journalist today that are different from those required
before liberalization? How has this affected the employability and earnings of

individuals? 3ERATIAEY GRUT TISHRUATIENCIZAT FIS=AT defeld 3TTAT THHRIT Hoor
RIMeT AT 3182 ITar IROTH ARl 30T FATSAT FRT STl 3HR?

10. What is the impact of social networking on the business of news reporting? TIeTel

11. What technological innovations are affecting the television industry? Do you think

‘households will eventually move toward integrated PC/TV appliances or continue to use two

S separate devices? Why? a1 ol Hoedl %W qgi%ﬂalﬂil 3T I IROTH
T 3T O 3R ATCe I Y ERTERIAY SRS FECgel T CBECIN]
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